
Mount Kit

CL-V-146

DATASHEETCAN Pole Mounting Bracket

Mechanical Illustration

Item: Description Quantity

1 Pole Mount Bracket 17'' - 20'' (5mm Galvanised Steel) 2

2 Pole Transition Bracket (5mm Galvanised Steel) 1

3 Bottom Cover Shroud (4mm ASA Capped Virgin ABS, RAL 7035) 2

4 M10 x 40mm Hex Head Screw (Stainless Steel) 12

5 M10 Hex Nut (Stainless Steel) 6

6 M10 Flat Washer (Stainless Steel) 18

7 M10 Spring Washer (Stainless Steel) 12

8 M6 x 20mm Torx Screw (Stainless Steel) 8

9 M6 Flat Washer (Stainless Steel) 16

10 M6 Lock Nut (Stainless Steel) 8

11 M6 x 25mm Penny Washer 4

12 M6 x 30mm Torx Pan Head Screw 4

13 M5 x 12mm,SEMS, Torx Pan Head Screw,, A2 SS 6

14 Rev A Gasket 20'' Pole Mounting Bracket 1

15 Rev A CL-V-146 Shroud Support Bracket 4

16 6.3 x 50mm Self Tapping & Drilling wooden screws 8

17 M6 Well Nut 4

Note: The 3 Thru Bolts or 2 straps shown in the above image are not provided as part of the CL-V-146 Kit.

Mechanical Specifications

Pole Diameter: 17'' to 20'' inches

Material: Galvanised Steel.

alphawireless.com

Page 1/1

Publish Date:  23.03.2022 Revision no:  05 (MK 1.2)

DATASHEET


